ITEM NO. 1	Bid Security	2014 Citywide Street Resurfacing Project ESTIMATE CITY PROJECT NO. 2379 & 2381			VEL, INC na, WA		JCTION CO. na, WA				
NO.						5% BI	D BOND	5% BI	D BOND		
1	ITEM	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1	SCHEDULE 'A'										
	MOBILIZATION	1	L.S.	\$208,000.00	\$208,000.00	\$128,600.00	\$128,600.00	\$405,000.00	\$405,000.00		
2	REMOVING CEMENT CONC. SIDEWALK	1360	S.Y.	\$50.00	\$68,000.00	\$49.00	\$66,640.00	\$70.00	\$95,200.00		
3	REMOVING CEMENT CONCRETE CURB	2950	L.F.	\$6.00	\$17,700.00	\$18.00	\$53,100.00	\$8.00	\$23,600.00		
4	SAWCUT PAVEMENT	9750	L.F.	\$2.00	\$19,500.00	\$1.00	\$9,750.00	\$1.00	\$9,750.00		
5	REMOVING CATCH BASIN	5	EACH	\$500.00	\$2,500.00	\$1,100.00	\$5,500.00	\$300.00	\$1,500.00		
6	PAVEMENT REPAIR EXCAVATION INCL. HAUL	3630	S.Y.	\$30.00	\$108,900.00	\$19.00	\$68,970.00	\$15.00	\$54,450.00		
7	ROADWAY EXCAVATION INCL. HAUL	3500	C.Y.	\$25.00	\$87,500.00	\$15.00	\$52,500.00	\$13.00	\$45,500.00		
8	CATCH BASIN TYPE 1	1	EACH	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$880.00	\$880.00		
9	CONCRETE INLET	4	EACH	\$2,000.00	\$8,000.00	\$1,800.00	\$7,200.00	\$275.00	\$1,100.00		
10	DUCTILE IRON STORM SEWER PIPE 8 IN. DIAM.	110	L.F.	\$50.00	\$5,500.00	\$80.00	\$8,800.00	\$100.00	\$11,000.00		
11	CRUSHED SURFACING BASE COURSE	5960	TON	\$25.00	\$149,000.00	\$34.00	\$202,640.00	\$26.00	\$154,960.00		
12	CRUSHED SURFACING TOP COURSE	190	TON	\$25.00	\$4,750.00	\$80.00	\$15,200.00	\$26.00	\$4,940.00		
13	ANTI-STRIPPING ADDITIVE	1	EST.	\$12,500.00	\$12,500.00	\$12,500.00	\$12,500.00	\$12,500.00	\$12,500.00		
14	CEMENT CONC. PAVEMENT	620	C.Y.	\$400.00	\$248,000.00	\$380.00	\$235,600.00	\$350.00	\$217,000.00		
15	JUST IN TIME TRAINING	1	L.S.	\$5,000.00	\$5,000.00	\$800.00	\$800.00	\$3,000.00	\$3,000.00		
16	PLANING BITUMINOUS PAVEMENT	67500	S.Y.	\$3.00	\$202,500.00	\$1.50	\$101,250.00	\$2.00	\$135,000.00		
17	PLANING BITUMINOUS PAVEMENT (6 IN. DEPTH)	3350	S.Y.	\$15.00	\$50,250.00	\$4.50	\$15,075.00	\$5.00	\$16,750.00		
18	HMA CL. 1/2 IN. PG 64-28	19650	TON	\$85.00	\$1,670,250.00	\$81.00	\$1,591,650.00	\$79.00	\$1,552,350.00		
19	HMA FOR PAVEMENT REPAIR Cl. 1/2 IN. PG 64-28	1220	TON	\$100.00	\$122,000.00	\$105.00	\$128,100.00	\$135.00	\$164,700.00		
20	HMA FOR PRELEVELING CL. 1/2 IN. PG 64-28	3800	TON	\$90.00	\$342,000.00	\$81.00	\$307,800.00	\$79.00	\$300,200.00		
21	JOB MIX COMPLIANCE PRICE ADJUSTMENT	1	CALC.	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00		
22	COMPACTION PRICE ADJUSTMENT	1	CALC.	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00		
23	CEMENT CONC. TRAFFIC CURB AND GUTTER	2780	L.F.	\$35.00	\$97,300.00	\$28.00	\$77,840.00	\$28.00	\$77,840.00		
24	CEMENT CONC. TRAFFIC CURB	50	L.F.	\$35.00	\$1,750.00	\$28.00	\$1,400.00	\$28.00	\$1,400.00		
25	CEMENT CONC. PEDESTRIAN CURB	1650	L.F.	\$25.00	\$41,250.00	\$19.00	\$31,350.00	\$19.00	\$31,350.00		
26	DUAL-FACED CEMENT CONC. TRAFFIC CURB	240	L.F.	\$35.00	\$8,400.00	\$38.00	\$9,120.00	\$30.00	\$7,200.00		
27	PAINT LINE	65000	L.F.	\$0.25	\$16,250.00	\$0.18	\$11,700.00	\$0.16	\$10,400.00		
28	PLASTIC TRAFFIC ARROW	96	EACH	\$200.00	\$19,200.00	\$123.00	\$11,808.00	\$90.00	\$8,640.00		
29	PAINTED WIDE LANE LINE	5000	L.F.	\$0.50	\$2,500.00	\$0.31	\$1,550.00	\$0.20	\$1,000.00		
30	PLASTIC WIDE LANE LINE	4635	L.F.	\$10.00	\$46,350.00	\$1.90	\$8,806.50	\$3.00	\$13,905.00		
31	PLASTIC STOP LINE	1250	L.F.	\$10.00	\$12,500.00	\$2.40	\$3,000.00	\$8.00	\$10,000.00		
32	PLASTIC CROSSWALK LINE	420	S.F.	\$7.50	\$3,150.00	\$3.50	\$1,470.00	\$5.00	\$2,100.00		
33	PLASTIC TRAFFIC LETTER	8	EACH	\$100.00	\$800.00	\$61.00	\$488.00	\$45.00	\$360.00		
34	PROJECT TEMPORARY TRAFFIC CONTROL	1	L.S.	\$195,000.00	\$195,000.00	\$318,300.00	\$318,300.00	\$400,000.00	\$400,000.00	ļ	
	(Schedule 'A' Continued on Page 2)										
aj.	CITY ENGINEERS REPORT COMPETITIVE BIDS FOR ALL SCHEDULES WERE OPENED ON APRIL 10, 2014 ALL BIDS HAVE BEEN REVIEWED BY THIS OFFICE. I RECOMMEND SCHEDULES 'A'+'F', 'B', 'C', 'D', AND 'E' BE AWARDED TO: COLUMBIA ASPHALT & GRAVEL, INC.	* Ncorpor			ARD MADE B	Á	() (out	20	14 City esurfaci PROJECT DATE: A	F YAKIM wide Street ing Proje NO. 2379 & 2 pril 10, 2014 D14 Citywide Resurf Bid	eet ct 2381







FILE: 2014 Citywide Resurf Bid Sum.pub SHEET **1** of **9**

	BID SUMMARY 2014 Citywide Street Resurfacing Project				Citywide Street Resurfacing Project ENGINEERS				& GRA	A ASPHALT /EL, INC na, WA	CONSTRU	GRANITE CONSTRUCTION CO. Yakima, WA		
ITEM	Bid Security					50/2 BT	D BOND	5% BID						
NO.	ITEM	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE			AMOUNT	UNIT PRICE	AMOUNT			
	SCHEDULE 'A' Continued	Q	U.I.I	of all rade		olui i luoz		on in thice						
35	TEMPORARY PAVEMENT MARKING	75900	L.F.	\$0.25	\$18,975.00	\$0.15	\$11,385.00	\$0.12	\$9,108.00					
36	PERMANENT SIGNING	1	L.S.	\$3,300.00	\$3,300.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00					
37	FRAME AND GRATE FOR CATCH BASINS	56	EACH	\$650.00	\$36,400.00	\$625.00	\$35,000.00	\$675.00	\$37,800.00					
38	ADJUST CATCH BASIN	10	EACH	\$500.00	\$5,000.00	\$3.00	\$30.00	\$400.00	\$4,000.00					
39	ADJUST VALVE BOX	180	EACH	\$500.00	\$90,000.00	\$802.65	\$144,477.00	\$400.00	\$112,500.00					
40	ADJUST MANHOLE	84	EACH	\$1,000.00	\$84,000.00	\$923.27	\$77,554.68	\$700.00	\$58,800.00					
40	ADJUST METER BOX	1	EACH	\$500.00	\$500.00	\$80.00	\$80.00	\$500.00	\$500.00					
42	ADJUST JUNCTION BOX	6	EACH	\$500.00	\$3,000.00	\$80.00	\$480.00	\$800.00	\$4,800.00					
43	ADJUST MONUMENT CASE AND COVER	10	EACH	\$1,000.00	\$10,000.00	\$1,100.00	\$11,000.00	\$500.00	\$5,000.00					
44	PLUGGING EXISTING PIPE	4	EACH	\$250.00	\$1,000.00	\$155.00	\$620.00	\$250.00	\$1,000.00					
45	CEMENT CONC. SIDEWALK	420	S.Y.	\$60.00	\$25,200.00	\$47.00	\$19,740.00	\$48.00	\$20,160.00					
46	CEMENT CONC. CURB RAMP TYPE PARALLEL A	62	EACH	\$1,500.00	\$93,000.00	\$1,300.00	\$80,600.00	\$1,100.00	\$68,200.00					
47	CEMENT CONC. CURB RAMP TYPE PARALLEL B	15	EACH	\$1,500.00	\$22,500.00	\$1,300.00	\$19,500.00	\$1,100.00	\$16,500.00					
48	CEMENT CONC. CURB RAMP TYPE 4A	23	EACH	\$1,500.00	\$34,500.00	\$1,550.00	\$35,650.00	\$1,300.00	\$29,900.00					
49	CEMENT CONC. CURB RAMP TYPE PERPENDICULAR A	8	EACH	\$1,500.00	\$12,000.00	\$1,300.00	\$10,400.00	\$1,100.00	\$8,800.00					
50	CEMENT CONC. CURB RAMP TYPE SINGLE DIRECTION A	1	EACH	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00					
51	CEMENT CONC. DRIVEWAY ENTRANCE TYPE 1	50	S.Y.	\$80.00	\$4,000.00	\$53.00	\$2,650.00	\$55.00	\$2,750.00					
52	DETECTABLE WARNING SURFACE	120	S.F.	\$50.00	\$6,000.00	\$47.00	\$5,640.00	\$45.00	\$5,400.00					
53	ROADWAY SURVEYING	1	L.S.	\$20,000.00	\$20,000.00	\$39,000.00	\$39,000.00	\$55,000.00	\$55,000.00					
54	PROPERTY RESTORATION	1	EST.	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00					
55	MINOR CHANGE	1	CALC.	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00					
56	SPCC PLAN	1	L.S.	\$600.00	\$600.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00					
	Schedule "A" Total:				\$4,294,773.00		\$4,036,112.18		\$4,266,091.00					
	SCHEDULE 'B'													
1	MOBILIZATION	1	L.S.	\$147,000.00	\$147,000.00	\$86,000.00	\$86,000.00	\$300,000.00	\$300,000.00					
2	REMOVING CEMENT CONC. SIDEWALK	680	S.Y.	\$50.00	\$34,000.00	\$49.00	\$33,320.00	\$68.00	\$46,240.00					
3	REMOVING CEMENT CONCRETE CURB	1660	L.F.	\$6.00	\$9,960.00	\$18.00	\$29,880.00	\$8.00	\$13,280.00					
4	SAWCUT PAVEMENT	5710	L.F.	\$2.00	\$11,420.00	\$1.00	\$5,710.00	\$1.00	\$5,710.00					
5	PAVEMENT REPAIR EXCAVATION INCL. HAUL	1970	S.Y.	\$30.00	\$59,100.00	\$19.00	\$37,430.00	\$15.25	\$30,042.50					
6	CRUSHED SURFACING BASE COURSE	1225	TON	\$25.00	\$30,625.00	\$35.00	\$42,875.00	\$41.00	\$50,225.00					
7	CRUSHED SURFACING TOP COURSE	90	TON	\$25.00	\$2,250.00	\$175.00	\$15,750.00	\$20.00	\$1,800.00					
8	ANTI-STRIPPING ADDITIVE	1	EST.	\$14,000.00	\$14,000.00	\$14,000.00	\$14,000.00	\$14,000.00	\$14,000.00					
9	PLANING BITUMINOUS PAVEMENT	60900	SY	\$3.00	\$182,700.00	\$2.50	\$152,250.00	\$2.00	\$121,800.00					
10	HMA CL. 1/2 IN. PG 64-28	16200	TON	\$85.00	\$1,377,000.00	\$80.00	\$1,296,000.00	\$79.00	\$1,279,800.00					
11	HMA FOR PAVEMENT REPAIR Cl. 1/2 IN. PG 64-28	700	TON	\$100.00	\$70,000.00	\$105.00	\$73,500.00	\$135.00	\$94,500.00					
12	HMA FOR PRELEVELING CL. 1/2 IN. PG 64-28	4150	TON	\$90.00	\$373,500.00	\$80.00	\$332,000.00	\$79.00	\$327,850.00					
	(Schedule B Continued on Page 3)	1100		<i>\$30.00</i>	<i>ç3,3,</i> 3,300.00	200.00	ç00 2 ,000.00	<i>ç, 5</i> .00	ço <u>c</u> ,,000.00					



2014 Citywide Street Resurfacing Project

FILE: 2014 Citywide Resurf Bid Sum.pub

PROJECT NO. 2379 & 2381

DATE: April 10, 2014

SHEET 2 of 9

	BID SUMMARY 2014 Citywide Street Resurfacing Project			ENGIN ESTIN		& GRA\	A ASPHALT /EL, INC na, WA	CONSTRU	ANITE ICTION CO. na, WA		
	CITY PROJECT NO. 2379 & 2381		1				-		-		
ITEM	Bid Security	071/					D BOND		D BOND		
NO.	ITEM	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	SCHEDULE 'B' Continued										
13	JOB MIX COMPLIANCE PRICE ADJUSTMENT	1	CALC.	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00		
14	COMPACTION PRICE ADJUSTMENT	1	CALC.	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00		
15	CEMENT CONC. TRAFFIC CURB AND GUTTER	1660	L.F.	\$35.00	\$58,100.00	\$28.00	\$46,480.00	\$28.00	\$46,480.00		
16	CEMENT CONC. PEDESTRIAN CURB	770	L.F.	\$25.00	\$19,250.00	\$19.00	\$14,630.00	\$19.00	\$14,630.00		
17	PAINT LINE	59900	L.F.	\$0.25	\$14,975.00	\$0.18	\$10,782.00	\$0.20	\$11,980.00		
18	PLASTIC TRAFFIC ARROW	35	EACH	\$200.00	\$7,000.00	\$123.00	\$4,305.00	\$90.00	\$3,150.00		
19	PAINTED WIDE LANE LINE	1980	L.F.	\$0.50	\$990.00	\$0.31	\$613.80	\$0.20	\$396.00		
20	PLASTIC WIDE LANE LINE	2280	L.F.	\$10.00	\$22,800.00	\$1.90	\$4,332.00	\$2.80	\$6,384.00		
21	PLASTIC STOP LINE	930	L.F.	\$10.00	\$9,300.00	\$2.40	\$2,232.00	\$8.00	\$7,440.00		
22	PLASTIC CROSSWALK LINE	868	S.F.	\$7.50	\$6,510.00	\$3.50	\$3,038.00	\$5.00	\$4,340.00		
23	PLASTIC TRAFFIC LETTER	4	EACH	\$100.00	\$400.00	\$61.00	\$244.00	\$47.00	\$188.00		
24	PROJECT TEMPORARY TRAFFIC CONTROL	1	L.S.	\$170,000.00	\$170,000.00	\$220,000.00	\$220,000.00	\$295,000.00	\$295,000.00		
25	TEMPORARY PAVEMENT MARKING	62700	L.F.	\$0.25	\$15,675.00	\$0.15	\$9,405.00	\$0.12	\$7,524.00		
26	PERMANENT SIGNING	1	L.S.	\$900.00	\$900.00	\$1,800.00	\$1,800.00	\$5,000.00	\$5,000.00		
27	FRAME AND GRATE FOR CATCH BASIN	58	EACH	\$650.00	\$37,700.00	\$625.00	\$36,250.00	\$685.00	\$39,730.00		
28	ADJUST CATCH BASIN	2	EACH	\$500.00	\$1,000.00	\$3.00	\$6.00	\$400.00	\$800.00		
29	ADJUST VALVE BOX	177	EACH	\$500.00	\$88,500.00	\$800.00	\$141,600.00	\$625.00	\$110,625.00		
30	ADJUST MANHOLE	88	EACH	\$1,000.00	\$88,000.00	\$925.00	\$81,400.00	\$650.00	\$57,200.00		
31	ADJUST METER BOX	3	EACH	\$500.00	\$1,500.00	\$80.00	\$240.00	\$400.00	\$1,200.00		
32	ADJUST JUNCTION BOX	3	EACH	\$500.00	\$1,500.00	\$80.00	\$240.00	\$750.00	\$2,250.00		
33	ADJUST MONUMENT CASE AND COVER	17	EACH	\$1,000.00	\$17,000.00	\$1,100.00	\$18,700.00	\$500.00	\$8,500.00		
34	ADJUST OF THIRD PARTY UTILITIES	1	EST.	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00		
35	CEMENT CONC. SIDEWALK	240	S.Y.	\$60.00	\$14,400.00	\$47.00	\$11,280.00	\$46.00	\$11,040.00		
36	CEMENT CONC. CURB RAMP TYPE PARALLEL A	12	EACH	\$1,500.00	\$18,000.00	\$1,300.00	\$15,600.00	\$1,100.00	\$13,200.00		
37	CEMENT CONC. CURB RAMP TYPE PARALLEL B	1	EACH	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00	\$1,100.00	\$1,100.00		
38	CEMENT CONC. CURB RAMP TYPE 4A	21	EACH	\$1,500.00	\$31,500.00	\$1,550.00	\$32,550.00	\$1,300.00	\$27,300.00		
39	CEMENT CONC. CURB RAMP TYPE PERPENDICULAR A	2	EACH	\$1,500.00	\$3,000.00	\$1,300.00	\$2,600.00	\$1,100.00	\$2,200.00		
40	CEMENT CONC. CURB RAMP TYPE PERPENDICULAR B	4	EACH	\$1,500.00	\$6,000.00	\$1,300.00	\$5,200.00	\$1,100.00	\$4,400.00		
41	CEMENT CONC. CURB RAMP TYPE SINGLE DIRECTION A	12	EACH	\$1,500.00	\$18,000.00	\$1,300.00	\$15,600.00	\$1,300.00	\$15,600.00		
42	CEMENT CONC. DRIVEWAY ENTRANCE TYPE 1	15	S.Y.	\$75.00	\$1,125.00	\$53.00	\$795.00	\$52.00	\$780.00		
43	DETECTABLE WARNING SURFACE	112	S.F.	\$50.00	\$5,600.00	\$47.00	\$5,264.00	\$45.00	\$5,040.00		
44	ROADWAY SURVEYING	1	L.S.	\$15,000.00	\$15,000.00	\$33,300.00	\$33,300.00	\$50,000.00	\$50,000.00		
45	PROPERTY RESTORATION	1	EST.	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00		
46	MINOR CHANGE	1	CALC.	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	<u> </u>	
47	SPCC PLAN	1	L.S.	\$600.00	\$600.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00		
	Schedule "B" Total:			┝────┼	\$3,028,378.00		\$2,879,999.80		\$3,080,722.50		
				┝────┼							
	(Schedule 'C' on Page 4)						2014 (Citywide	Y OF YA Street Ro	esurfacin,	g Projec
	* Necos	1880 ×						DAT	E: April 10, 2014		QUEET



SHEET 3 of 9

	BID SUMMARY 2014 Citywide Street Resurfacing Project CITY PROJECT NO. 2379 & 2381		ENGINEERS ESTIMATE Yakima		/EL, INC	EL, INC CONSTRUCTION CO.					
ITEM	Bid Security					5% BII		5% BID	BOND		
NO.	ITEM	QTY	UNIT	UNIT PRICE	AMOUNT				AMOUNT	UNIT PRICE	AMOUNT
110.	SCHEDULE 'C'	Q, II	UNIT	ONTITICE	Amoun		AMOUNT			ONTITIOL	Amoon
1	MOBILIZATION	1	L.S.	\$158,000.00	\$158,000.00	\$171,000.00	\$171,000.00	\$200,000.00	\$200,000.00		
2	REMOVING CEMENT CONC. SIDEWALK	1270	S.Y.	\$138,000.00	\$63,500.00	\$41.00	\$52,070.00	\$200,000.00	\$86,360.00		
3	REMOVING CEMENT CONCETE CURB	2270	L.F.	\$50.00	\$13,620.00	\$18.00	\$40,860.00	\$8.00	\$18,160.00		
-					. ,	-		\$8.00			
4 5	SAWCUT PAVEMENT REMOVING CATCH BASIN	17350	L.F. EACH	\$2.00 \$500.00	\$34,700.00 \$1,500.00	\$1.00	\$17,350.00	•	\$17,350.00 \$4,200.00		
5 6	PAVEMENT REPAIR EXCAVATION INCL. HAUL	3 5570	S.Y.	\$30.00	\$1,500.00	\$450.00 \$15.00	\$1,350.00 \$83,550.00	\$1,400.00 \$15.00	\$4,200.00		
7	CATCH BASIN TYPE 1	3	EACH	\$2,000.00	\$6,000.00	\$1,800.00	\$5,400.00	\$15.00	\$2,550.00		
8	CRUSHED SURFACING BASE COURSE	3440	TON	\$2,000.00	\$86,000.00	\$1,800.00	\$116,960.00	\$41.00	\$141,040.00		
<u> </u>	CRUSHED SURFACING BASE COURSE	150	TON	\$25.00	\$3,750.00	\$25.00	\$3,750.00	\$41.00	\$3,000.00		
10	ANTI-STRIPPING ADDITIVE	130	EST.	\$12,500.00	\$12,500.00	\$12,500.00	\$12,500.00	\$20.00	\$12,500.00		
10	PLANING BITUMINOUS PAVEMENT	76300	SY	\$12,300.00	\$228,900.00	\$12,300.00	\$152,600.00	\$12,300.00	\$152,600.00		
	HMA CL. 1/2 IN. PG 64-28	14600	TON	\$3.00	\$228,900.00	\$2.00	\$1,182,600.00	\$2.00	\$1,138,800.00		
12 13	HMA CL. 1/2 IN. PG 64-28 HMA FOR PAVEMENT REPAIR CI. 1/2 IN. PG 64-28	14600	TON	\$85.00	\$1,241,000.00 \$191,000.00	\$81.00 \$105.00	\$1,182,600.00	\$78.00	\$1,138,800.00		
	HMA FOR PAVEMENT REPAIR CL. 1/2 IN. PG 64-28 HMA FOR PRELEVELING CL. 1/2 IN. PG 64-28	3300	TON	\$100.00	\$191,000.00	\$105.00 \$81.00	\$200,550.00	\$135.00	\$257,850.00		
14 15	JOB MIX COMPLIANCE PRICE ADJUSTMENT	3300	CALC.	-\$1.00	\$297,000.00 -\$1.00	-\$1.00	\$267,300.00 -\$1.00	\$78.00 -\$1.00	\$257,400.00 -\$1.00		
16	COMPACTION PRICE ADJUSTMENT	1	CALC.	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00		
17	CEMENT CONC. TRAFFIC CURB AND GUTTER	2320	L.F.	\$35.00	\$81,200.00	\$32.00	\$74,240.00	\$28.00	\$64,960.00		
18	CEMENT CONC. PEDESTRIAN CURB	1410	L.F.	\$25.00	\$35,250.00	\$32.00	\$32,430.00	\$20.00	\$28,200.00		
19	PAINT LINE	57700	L.F.	\$0.25	\$14,425.00	\$0.18	\$10,386.00	\$20.00	\$11,540.00		
	PLASTIC TRAFFIC ARROW		EACH								
20		43		\$200.00	\$8,600.00	\$123.00	\$5,289.00	\$90.00	\$3,870.00		
21	PAINTED WIDE LANE LINE	1550	L.F.	\$0.50	\$775.00	\$0.31	\$480.50	\$0.20	\$310.00		
22	PLASTIC WIDE LANE LINE	2250	L.F.	\$10.00	\$22,500.00	\$1.90	\$4,275.00	\$2.80	\$6,300.00		
23	PLASTIC STOP LINE	650	L.F.	\$10.00	\$6,500.00	\$2.40	\$1,560.00	\$8.00	\$5,200.00		
24	PLASTIC TRAFFIC LETTER	8	EACH	\$100.00	\$800.00	\$61.00	\$488.00	\$50.00	\$400.00		
25	PLASTIC RAILROAD CROSSING SYMBOL	8	EACH	\$1,000.00	\$8,000.00	\$900.00	\$7,200.00	\$500.00	\$4,000.00		
26	PROJECT TEMPORARY TRAFFIC CONTROL	1	L.S.	\$150,000.00	\$150,000.00	\$258,000.00	\$258,000.00	\$310,000.00	\$310,000.00		
27	TEMPORARY PAVEMENT MARKING	60700	L.F.	\$0.25	\$15,175.00	\$0.11	\$6,677.00	\$0.12	\$7,284.00		
28	PERMANENT SIGNING	1	L.S.	\$1,800.00	\$1,800.00	\$600.00	\$600.00	\$5,000.00	\$5,000.00		
							· · · · ·				
29	FRAME AND GRATE FOR CATCH BASIN	53	EACH	\$650.00	\$34,450.00	\$535.00	\$28,355.00	\$675.00	\$35,775.00		
30	ADJUST CATCH BASIN	1	EACH	\$500.00	\$500.00	\$270.00	\$270.00	\$400.00	\$400.00		
31	ADJUST VALVE BOX	135	EACH	\$500.00	\$67,500.00	\$500.00	\$67,500.00	\$625.00	\$84,375.00		
32	ADJUST MANHOLE	99	EACH	\$1,000.00	\$99,000.00	\$900.00	\$89,100.00	\$650.00	\$64,350.00		
33	ADJUST METER BOX	6	EACH	\$500.00	\$3,000.00	\$80.00	\$480.00	\$400.00	\$2,400.00		
34	ADJUST JUNCTION BOX	12	EACH	\$500.00	\$6,000.00	\$80.00	\$960.00	\$800.00	\$9,600.00		
57	(Schedule 'C' Continued on Page 5)	12	LACIT	÷500.00	<i>φ</i> 0,000.00		Ç500.00		<i>\$3,000.00</i>		
							2014	Citywide	Y OF Y Street R	esurfacii	ng Proje



SHEET 4 of 9

	BID SUMMARY 2014 Citywide Street Resurfacing Project			ENGIN ESTIN		COLUMBIA & GRAV	'EL, INC	GRA CONSTRU	CTION CO.		
	CITY PROJECT NO. 2379 & 2381					Yakima, WA		Yakim	a, wa		
ITEM	Bid Security					5% BIE) BOND	5% BIE) BOND		
NO.	ITEM	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	SCHEDULE 'C' Continued										
35	ADJUST MONUMENT CASE AND COVER	15	EACH	\$1,000.00	\$15,000.00	\$1,100.00	\$16,500.00	\$500.00	\$7,500.00		
36	CEMENT CONC. SIDEWALK	385	S.Y.	\$60.00	\$23,100.00	\$55.00	\$21,175.00	\$46.00	\$17,710.00		
37	CEMENT CONC. CURB RAMP TYPE PARALLEL A	37	EACH	\$1,500.00	\$55,500.00	\$1,100.00	\$40,700.00	\$1,100.00	\$40,700.00		
38	CEMENT CONC. CURB RAMP TYPE PARALLEL B	44	EACH	\$1,500.00	\$66,000.00	\$1,125.00	\$49,500.00	\$1,100.00	\$48,400.00		
39	CEMENT CONC. CURB RAMP TYPE 4A	6	EACH	\$1,500.00	\$9,000.00	\$1,325.00	\$7,950.00	\$1,300.00	\$7,800.00		
40	DETECTABLE WARNING SURFACE	200	S.F.	\$50.00	\$10,000.00	\$47.00	\$9,400.00	\$45.00	\$9,000.00		
41	ROADWAY SURVEYING	1	L.S.	\$15,000.00	\$15,000.00	\$28,000.00	\$28,000.00	\$45,000.00	\$45,000.00		
42	PROPERTY RESTORATION	1	EST.	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00		
43	MINOR CHANGE	1	CALC.	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00		
44	SPCC PLAN	1	L.S.	\$500.00	\$500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00		
	Schedule "C" Total:				\$3,294,143.00		\$3,109,853.50		\$3,236,432.00		
	SCHEDULE 'D'										
1	MOBILIZATION	1	L.S.	\$180,000.00	\$180,000.00	\$223,400.00	\$223,400.00	\$230,000.00	\$230,000.00		
2	CLEARING AND GRUBBING	1	L.S.	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$113,000.00	\$113,000.00		
3	REMOVING CEMENT CONC. SIDEWALK	2350	S.Y.	\$50.00	\$117,500.00	\$41.00	\$96,350.00	\$68.00	\$159,800.00		
4		4510	L.F.	\$6.00	\$27,060.00	\$18.00	\$81,180.00	\$8.00	\$36,080.00		
5	REMOVING CONCRETE BARRIER SECTION	11	EACH	\$200.00	\$2,200.00	\$195.00	\$2,145.00	\$200.00	\$2,200.00		
6	REMOVING CATCH BASIN	1	EACH	\$500.00	\$500.00	\$450.00	\$450.00	\$1,500.00	\$1,500.00		
7	SAWCUT PAVEMENT	10990	L.F.	\$2.00	\$21,980.00	\$1.00	\$10,990.00	\$1.00	\$10,990.00		
8	PAVEMENT REPAIR EXCAVATION INCL. HAUL	4960	S.Y.	\$30.00	\$148,800.00	\$15.00	\$74,400.00	\$15.00	\$74,400.00		
9	CATCH BASIN TYPE 1	1	EACH	\$1,200.00	\$1,200.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00		
10	CRUSHED SURFACING TOP COURSE	210	TON	\$25.00	\$5,250.00	\$25.00	\$5,250.00	\$20.00	\$4,200.00		
11	CRUSHED SURFACING BASE COURSE	3030	TON	\$25.00	\$75,750.00	\$34.00	\$103,020.00	\$41.00	\$124,230.00		
12	ANTI-STRIPPING ADDITIVE	1	EST.	\$17,500.00	\$17,500.00	\$17,500.00	\$17,500.00	\$17,500.00	\$17,500.00		
13	PLANING BITUMINOUS PAVEMNT	103250	SY	\$3.00	\$309,750.00	\$2.20	\$227,150.00	\$2.00	\$206,500.00		
14	HMA CL. 1/2 IN. PG 64-28	13600	TON	\$85.00	\$1,156,000.00	\$82.00	\$1,115,200.00	\$76.00	\$1,033,600.00		
15	HMA FOR PAVEMENT REPAIR Cl. 1/2 IN. PG 64-28	1740	TON	\$100.00	\$174,000.00	\$105.00	\$182,700.00	\$135.00	\$234,900.00		
16	HMA FOR PRELEVELING CL. 1/2 IN. PG 64-28	3700	TON	\$90.00	\$333,000.00	\$82.00	\$303,400.00	\$77.00	\$284,900.00		
10	JOB MIX COMPLIANCE PRICE ADJUSTMENT	1	CALC.	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00		
18	COMPACTION PRICE ADJUSTMENT	1	CALC.	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00		
	CEMENT CONC. TRAFFIC CURB AND GUTTER	3980	L.F.	\$35.00	\$139,300.00	\$32.00	\$127,360.00	\$30.00	\$119,400.00		
19											
20	CEMENT CONC. TRAFFIC CURB	440	L.F.	\$25.00	\$11,000.00	\$32.00	\$14,080.00	\$30.00	\$13,200.00		
21	DUAL-FACED CEMENT CONC. TRAFFIC CURB	265	L.F.	\$25.00	\$6,625.00	\$38.00	\$10,070.00	\$32.00	\$8,480.00		
	(Schedule D Continued on Page 6)										



2014 Citywide Street Resurfacing Project

PROJECT NO. 2379 & 2381

DATE: April 10, 2014

SHEET 5 of 9

	BID SUMMARY 2014 Citywide Street Resurfacing Project CITY PROJECT NO. 2379 & 2381			ENGIN ESTIN		& GRA	A ASPHALT /EL, INC na, WA	GRA CONSTRU Yakim	CTION CO.		
ITEM	Bid Security) BOND	5% BID			
	ITEM	QTY	UNIT	UNIT PRICE							
NO.		QIT	UNIT		AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
22	SCHEDULE 'D' Continued	4650		¢25.00	¢ 44, 250,00	ć22.00	¢27.050.00	ć20.00	¢22.000.00		
22		1650	L.F.	\$25.00	\$41,250.00	\$23.00	\$37,950.00	\$20.00	\$33,000.00		
23	REMOVING AND RESETTING EXISTING PERMANENT BARRIER	50	L.F.	\$100.00	\$5,000.00	\$16.00	\$800.00	\$20.00	\$1,000.00		
24		50400	L.F.	\$0.25	\$12,600.00	\$0.18	\$9,072.00	\$0.16	\$8,064.00		
25	PLASTIC TRAFFIC ARROW	96	EACH	\$200.00	\$19,200.00	\$123.00	\$11,808.00	\$90.00	\$8,640.00		
26	PAINTED WIDE LANE LINE	4980	L.F.	\$0.50	\$2,490.00	\$0.31	\$1,543.80	\$0.20	\$996.00		
27	PLASTIC WIDE LANE LINE	6090	L.F.	\$10.00	\$60,900.00	\$1.90	\$11,571.00	\$2.80	\$17,052.00		
28	PLASTIC STOP LINE	1170	L.F.	\$10.00	\$11,700.00	\$2.40	\$2,808.00	\$8.00 \$5.00	\$9,360.00		
29	PLASTIC CROSSWALK LINE PLASTIC RAILROAD CROSSING SYMBOL	160	S.F. EACH	\$7.50	\$1,200.00	\$3.50	\$560.00		\$800.00 \$3,000.00		
30	PAINTED ACCESS PARKING SPACE SYMBOL	6	EACH	\$1,000.00 \$350.00	\$6,000.00 \$1,050.00	\$900.00 \$52.00	\$5,400.00 \$156.00	\$500.00 \$80.00	\$3,000.00		<u>├</u> ──── ┃
31		-									
32	PLASTIC BICYCLE LANE SYMBOL	18	EACH	\$250.00	\$4,500.00	\$110.00	\$1,980.00	\$300.00	\$5,400.00		
33	PLASTIC TRAFFIC LETTER	20	EACH	\$100.00	\$2,000.00	\$61.00	\$1,220.00	\$50.00	\$1,000.00		<u>├</u> ──── ┃
34	PROJECT TEMPORARY TRAFFIC CONTROL	1	L.S.	\$215,000.00	\$215,000.00	\$330,500.00	\$330,500.00	\$365,000.00	\$365,000.00		∤ ∎
35	TEMPORARY PAVEMENT MARKING	59400	L.F.	\$0.25	\$14,850.00	\$0.11	\$6,534.00	\$0.12	\$7,128.00		
36	PERMANENT SIGNING	1	L.S.	\$2,000.00	\$2,000.00	\$1,900.00	\$1,900.00	\$5,000.00	\$5,000.00		
37	ADJUST CATCH BASIN	5	EACH	\$500.00	\$2,500.00	\$270.00	\$1,350.00	\$400.00	\$2,000.00		
38	FRAME AND GRATE FOR CATCH BASIN	25	EACH	\$650.00	\$16,250.00	\$500.00	\$12,500.00	\$675.00	\$16,875.00		
39	ADJUST VALVE BOX	126	EACH	\$500.00	\$63,000.00	\$500.00	\$63,000.00	\$625.00	\$78,750.00		
40	ADJUST MANHOLE	30	EACH	\$1,000.00	\$30,000.00	\$1,000.00	\$30,000.00	\$650.00	\$19,500.00		
41	ADJUST METER BOX	1	EACH	\$500.00	\$500.00	\$80.00	\$80.00	\$675.00	\$675.00		
42	ADJUST JUNCTION BOX	2	EACH	\$500.00	\$1,000.00	\$80.00	\$160.00	\$750.00	\$1,500.00		
43	ADJUST MONUMENT CASE AND COVER	8	EACH	\$1,000.00	\$8,000.00	\$1,100.00	\$8,800.00	\$500.00	\$4,000.00		
44	ADJUSTMENT OF THIRD PARTY UTILITIES	1	EST.	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00		
45	CEMENT CONC. SIDEWALK	1300	S.Y.	\$60.00	\$78,000.00	\$55.00	\$71,500.00	\$46.00	\$59,800.00		
46	CEMENT CONC. DRIVEWAY ENTRANCE TYPE 2	80	S.Y.	\$80.00	\$6,400.00	\$63.00	\$5,040.00	\$52.00	\$4,160.00		
47	CEMENT CONC. CURB RAMP TYPE PARALLEL A	3	EACH	\$1,500.00	\$4,500.00	\$1,100.00	\$3,300.00	\$1,100.00	\$3,300.00		
48	CEMENT CONC. CURB RAMP TYPE PARALLEL B	2	EACH	\$1,500.00	\$3,000.00	\$1,125.00	\$2,250.00	\$1,100.00	\$2,200.00		
49	CEMENT CONC. CURB RAMP TYPE 4A	10	EACH	\$1,500.00	\$15,000.00	\$1,340.00	\$13,400.00	\$1,300.00	\$13,000.00		
50	CEMENT CONC. CURB RAMP TYPE PERPENDICULAR A	-	EACH	\$1,500.00	\$15,000.00				\$13,000.00		
		19				\$1,120.00	\$21,280.00	\$1,100.00			
51	CEMENT CONC. CURB RAMP TYPE PERPENDICULAR B	105	EACH	\$1,500.00	\$157,500.00	\$1,090.00	\$114,450.00	\$1,100.00	\$115,500.00		
52	CEMENT CONC. CURB RAMP TYPE SINGLE DIRECTION A	8	EACH	\$1,500.00	\$12,000.00	\$1,500.00	\$12,000.00	\$1,300.00	\$10,400.00		ļ
53	DETECTABLE WARNING SURFACE	512	S.F.	\$50.00	\$25,600.00	\$47.00	\$24,064.00	\$45.00	\$23,040.00		
54	ROADWAY SURVEYING	1	L.S.	\$25,000.00	\$25,000.00	\$66,625.00	\$66,625.00	\$70,000.00	\$70,000.00		
55	PROPERTY RESTORATION	1	EST.	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00		
56	MINOR CHANGE	1	CALC.	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00		
57	SPCC PLAN	1	L.S.	\$800.00	\$800.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00		1
<i></i>	Schedule "D" Total:			2000.00	\$3,680,203.00	÷200.00	\$3,546,544.80	÷ =,000100	\$3,662,158.00		1
	(Schedule 'E' on Page 7)								Y OF Y		ing Project
	* ACORPORATED 198	MA						PR(DAT	DJECT NO. E: April 10, 201 E: 2014 Citywide Re	2379 & 2381 4	SHEET (



	BID SUMMARY 2014 Citywide Street Resurfacing Project	2014 Citywide Street Resurfacing Project ESTIMATE					A ASPHALT /EL, INC ha, WA	GRA CONSTRU Yakim	CTION CO.		
							-				
ITEM	Bid Security					5% BID		5% BID			
NO.	ITEM	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	SCHEDULE 'E'	_									
1	MOBILIZATION	1	L.S.	\$122,000.00	\$122,000.00	\$143,000.00	\$143,000.00	\$144,000.00	\$144,000.00		
2	CLEARING AND GRUBBING	1	L.S.	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$35,000.00	\$35,000.00		
3	REMOVING CEMENT CONC. SIDEWALK	1760	S.Y.	\$50.00	\$88,000.00	\$41.00	\$72,160.00	\$68.00	\$119,680.00		
4	REMOVING CEMENT CONCRETE CURB	3280	L.F.	\$6.00	\$19,680.00	\$18.00	\$59,040.00	\$8.00	\$26,240.00		
5	SAWCUT PAVEMENT	6600	L.F.	\$2.00	\$13,200.00	\$1.00	\$6,600.00	\$1.00	\$6,600.00		
6	ROADWAY EXCAVATION INCL. HAUL	1500	C.Y.	\$30.00	\$45,000.00	\$15.00	\$22,500.00	\$16.00	\$24,000.00		
7	PAVEMENT REPAIR EXCAVATION INCL. HAUL	2000	S.Y.	\$30.00	\$60,000.00	\$15.00	\$30,000.00	\$15.00	\$30,000.00		
8	UNDERDRAIN PIPE 6 IN. DIAM.	75	L.F.	\$75.00	\$5,625.00	\$23.00	\$1,725.00	\$16.00	\$1,200.00		
9	CATCH BASIN TYPE 1	2	EACH	\$1,200.00	\$2,400.00	\$1,800.00	\$3,600.00	\$1,000.00	\$2,000.00		
10	CRUSHED SURFACING BASE COURSE	2400	TON	\$25.00	\$60,000.00	\$34.00	\$81,600.00	\$30.00	\$72,000.00		
11	CRUSHED SURFACING TOP COURSE	160	TON	\$25.00	\$4,000.00	\$25.00	\$4,000.00	\$20.00	\$3,200.00		
12	ANTI-STRIPPING ADDITIVE	1	EST.	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00		
13	PLANING BITUMINOUS PAVEMNT	75900	SY	\$3.00	\$227,700.00	\$2.20	\$166,980.00	\$2.00	\$151,800.00		
14	HMA CL. 1/2 IN. PG 64-28	9000	TON	\$85.00	\$765,000.00	\$85.00	\$765,000.00	\$78.00	\$702,000.00		
15	HMA FOR PAVEMENT REPAIR Cl. 1/2 IN. PG 64-28	750	TON	\$100.00	\$75,000.00	\$105.00	\$78,750.00	\$135.00	\$101,250.00		
16	HMA FOR PRELEVELING CL. 1/2 IN. PG 64-28	2300	TON	\$90.00	\$207,000.00	\$85.00	\$195,500.00	\$78.00	\$179,400.00		
17	JOB MIX COMPLIANCE PRICE ADJUSTMENT	1	CALC.	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00		
18	COMPACTION PRICE ADJUSTMENT	1	CALC.	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00		
19	TOPSOIL TYPE A	5	C.Y.	\$50.00	\$250.00	\$60.00	\$300.00	\$200.00	\$1,000.00		
20	CEMENT CONC. TRAFFIC CURB AND GUTTER	2940	L.F.	\$35.00	\$102,900.00	\$32.00	\$94,080.00	\$30.00	\$88,200.00		
21	CEMENT CONC. TRAFFIC CURB	340	L.F.	\$35.00	\$11,900.00	\$32.00	\$10,880.00	\$30.00	\$10,200.00		
22	CEMENT CONC. PEDESTRIAN CURB	1850	L.F.	\$25.00	\$46,250.00	\$23.00	\$42,550.00	\$21.00	\$38,850.00		
	PAINT LINE	33700	L.F.	\$0.25	\$8,425.00	\$0.18	\$6,066.00	\$0.16	\$5,392.00		
23									. ,		
24	PLASTIC TRAFFIC ARROW	76	EACH	\$200.00	\$15,200.00	\$123.00	\$9,348.00	\$90.00	\$6,840.00		
25	PAINTED WIDE LANE LINE	1730	L.F.	\$0.50	\$865.00	\$0.31	\$536.30	\$0.20	\$346.00		
26	PLASTIC WIDE LANE LINE	2700	L.F.	\$10.00	\$27,000.00	\$1.90	\$5,130.00	\$3.00	\$8,100.00		
27	PLASTIC STOP LINE	640	L.F.	\$10.00	\$6,400.00	\$2.40	\$1,536.00	\$8.00	\$5,120.00		
28	PLASTIC CROSSWALK LINE	386	S.F.	\$7.50	\$2,895.00	\$3.50	\$1,351.00	\$5.00	\$1,930.00		
29	PLASTIC BICYCLE LANE SYMBOL	54	EACH	\$250.00	\$13,500.00	\$110.00	\$5,940.00	\$325.00	\$17,550.00		
30	PLASTIC TRAFFIC LETTER	12	EACH	\$15.00	\$180.00	\$61.00	\$732.00	\$50.00	\$600.00		
31	PROJECT TEMPORARY TRAFFIC CONTROL	1	L.S.	\$110,000.00	\$110,000.00	\$202,000.00	\$202,000.00	\$210,000.00	\$210,000.00		
		10000							. ,		
32		40000	L.F.	\$0.25	\$10,000.00	\$0.11	\$4,400.00	\$0.12	\$4,800.00		
33	PERMANENT SIGNING	1	L.S.	\$6,500.00	\$6,500.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00		
34	GRAVEL BACKFILL FOR DRAIN	10	C.Y.	\$20.00	\$200.00	\$98.00	\$980.00	\$50.00	\$500.00		
35	ADJUST CATCH BASIN	7	EACH	\$500.00	\$3,500.00	\$270.00	\$1,890.00	\$400.00	\$2,800.00		
36	FRAME AND GRATE FOR CATCH BASIN	37	EACH	\$650.00	\$24,050.00	\$500.00	\$18,500.00	\$700.00	\$25,900.00		
50	(Schedule 'E' Continued on Page 8)			· · · · ·							



UNIT PRICE AMOUNT		ICTION CO. na, WA		VEL, INC	ENGINEERS & COLUMBIA & GRAVE ESTIMATE Yakima			BID SUMMARY 2014 Citywide Street Resurfacing Project CITY PROJECT NO. 2379 & 2381					
UNIT PRICE AMOUNT													
UNIT PRICE AMOUNT		D BOND		D BOND					071/	ITEM Bid Security			
	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	UNIT	QTY	NO. ITEM	NO.		
		645 500 00	¢700.00	¢22.500.00	6500.00	622 500 00	<u> </u>	54.011	65	SCHEDULE 'E' Continued			
		\$45,500.00	\$700.00	\$32,500.00	\$500.00	\$32,500.00	\$500.00	EACH	65	37 ADJUST VALVE BOX			
		\$28,000.00	\$700.00	\$40,000.00	\$1,000.00	\$40,000.00	\$1,000.00	EACH	40	38 ADJUST MANHOLE			
		\$2,000.00	\$2,000.00	\$80.00	\$80.00	\$500.00	\$500.00	EACH	1	39 ADJUST METER BOX			
		\$2,500.00	\$2,500.00	\$80.00	\$80.00	\$500.00	\$500.00	EACH	1	40 ADJUST JUNCTION BOX			
									15				
									70				
								EACH	2				
									_				
											-		
									1				
								EST.	1				
		\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	CALC.	1	53 MINOR CHANGE	53		
	00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$400.00	\$400.00	L.S.	1	54 SPCC PLAN	54		
	00	\$2,442,624.00		\$2,422,282.30		\$2,527,808.00				Schedule "E" Total:			
										SCHEDULE 'F'			
	00	\$40,000.00	\$40,000.00	\$12,500.00	\$12,500.00	\$10,000.00	\$10,000.00	L.S.	1	1 MOBILIZATION	1		
		\$3,480.00		/ /	,		\$10.00	S.Y.	580	2 REMOVING ASPHALT PAVEMENT			
			\$6.00	\$1,450,00	\$2.50	55 XOO OO							
			\$6.00 \$70.00	\$1,450.00 \$2,275.00	\$2.50 \$35.00	\$5,800.00 \$3,250.00							
	00	\$4,550.00	\$70.00	\$2,275.00	\$35.00	\$3,250.00	\$50.00	S.Y.	65	3 REMOVING CEMENT CONC. SIDEWALK	3		
	00 00	\$4,550.00 \$1,600.00	\$70.00 \$20.00	\$2,275.00 \$1,440.00	\$35.00 \$18.00	\$3,250.00 \$480.00	\$50.00 \$6.00	S.Y. L.F.	65 80	3 REMOVING CEMENT CONC. SIDEWALK 4 REMOVING CEMENT CONCRETE CURB	3 4		
	00 00 00	\$4,550.00 \$1,600.00 \$720.00	\$70.00 \$20.00 \$1.00	\$2,275.00 \$1,440.00 \$720.00	\$35.00 \$18.00 \$1.00	\$3,250.00 \$480.00 \$1,440.00	\$50.00 \$6.00 \$2.00	S.Y. L.F. L.F.	65 80 720	3 REMOVING CEMENT CONC. SIDEWALK 4 REMOVING CEMENT CONCRETE CURB 5 SAWCUT PAVEMENT	3 4 5		
	00 00 00 00	\$4,550.00 \$1,600.00 \$720.00 \$4,515.00	\$70.00 \$20.00 \$1.00 \$21.00	\$2,275.00 \$1,440.00 \$720.00 \$4,085.00	\$35.00 \$18.00 \$1.00 \$19.00	\$3,250.00 \$480.00 \$1,440.00 \$645.00	\$50.00 \$6.00 \$2.00 \$3.00	S.Y. L.F. L.F. L.F.	65 80 720 215	3 REMOVING CEMENT CONC. SIDEWALK 4 REMOVING CEMENT CONCRETE CURB 5 SAWCUT PAVEMENT 6 REMOVING PIPE	3 4 5 6		
	00 00 00 00 00 00	\$4,550.00 \$1,600.00 \$720.00 \$4,515.00 \$8,840.00	\$70.00 \$20.00 \$1.00 \$21.00 \$26.00	\$2,275.00 \$1,440.00 \$720.00 \$4,085.00 \$7,820.00	\$35.00 \$18.00 \$1.00 \$19.00 \$23.00	\$3,250.00 \$480.00 \$1,440.00 \$645.00 \$3,400.00	\$50.00 \$6.00 \$2.00 \$3.00 \$10.00	S.Y. L.F. L.F. L.F. L.F.	65 80 720 215 340	3REMOVING CEMENT CONC. SIDEWALK4REMOVING CEMENT CONCRETE CURB5SAWCUT PAVEMENT6REMOVING PIPE7ABANDON AND FILL EXISTING PIPE	3 4 5 6 7		
	00 00 00 00 00 00 00 00 00 00	\$4,550.00 \$1,600.00 \$720.00 \$4,515.00 \$8,840.00 \$53,460.00	\$70.00 \$20.00 \$1.00 \$21.00 \$26.00 \$99.00	\$2,275.00 \$1,440.00 \$720.00 \$4,085.00 \$7,820.00 \$48,060.00	\$35.00 \$18.00 \$1.00 \$19.00 \$23.00 \$89.00	\$3,250.00 \$480.00 \$1,440.00 \$645.00 \$3,400.00 \$24,300.00	\$50.00 \$6.00 \$2.00 \$3.00 \$10.00 \$45.00	S.Y. L.F. L.F. L.F. L.F. L.F.	65 80 720 215	 3 REMOVING CEMENT CONC. SIDEWALK 4 REMOVING CEMENT CONCRETE CURB 5 SAWCUT PAVEMENT 6 REMOVING PIPE 7 ABANDON AND FILL EXISTING PIPE 8 PVC SANITARY SEWER PIPE 8 IN. DIAM. 	3 4 5 6 7		
	00 00 00 00 00 00 00 00 00 00	\$4,550.00 \$1,600.00 \$720.00 \$4,515.00 \$8,840.00	\$70.00 \$20.00 \$1.00 \$21.00 \$26.00	\$2,275.00 \$1,440.00 \$720.00 \$4,085.00 \$7,820.00	\$35.00 \$18.00 \$1.00 \$19.00 \$23.00	\$3,250.00 \$480.00 \$1,440.00 \$645.00 \$3,400.00	\$50.00 \$6.00 \$2.00 \$3.00 \$10.00	S.Y. L.F. L.F. L.F. L.F.	65 80 720 215 340	3REMOVING CEMENT CONC. SIDEWALK4REMOVING CEMENT CONCRETE CURB5SAWCUT PAVEMENT6REMOVING PIPE7ABANDON AND FILL EXISTING PIPE	3 4 5 6 7 8		
	00 00 00 00 00 00 00 00 00 00 00 00	\$4,550.00 \$1,600.00 \$720.00 \$4,515.00 \$8,840.00 \$53,460.00	\$70.00 \$20.00 \$1.00 \$21.00 \$26.00 \$99.00	\$2,275.00 \$1,440.00 \$720.00 \$4,085.00 \$7,820.00 \$48,060.00	\$35.00 \$18.00 \$1.00 \$19.00 \$23.00 \$89.00	\$3,250.00 \$480.00 \$1,440.00 \$645.00 \$3,400.00 \$24,300.00	\$50.00 \$6.00 \$2.00 \$3.00 \$10.00 \$45.00	S.Y. L.F. L.F. L.F. L.F. L.F.	65 80 720 215 340 540	 3 REMOVING CEMENT CONC. SIDEWALK 4 REMOVING CEMENT CONCRETE CURB 5 SAWCUT PAVEMENT 6 REMOVING PIPE 7 ABANDON AND FILL EXISTING PIPE 8 PVC SANITARY SEWER PIPE 8 IN. DIAM. 	3 4 5 6 7 8 9		
	00	\$4,550.00 \$1,600.00 \$720.00 \$4,515.00 \$8,840.00 \$53,460.00 \$6,120.00	\$70.00 \$20.00 \$1.00 \$21.00 \$26.00 \$99.00 \$3,060.00	\$2,275.00 \$1,440.00 \$720.00 \$4,085.00 \$7,820.00 \$48,060.00 \$5,500.00	\$35.00 \$18.00 \$1.00 \$19.00 \$23.00 \$89.00 \$2,750.00	\$3,250.00 \$480.00 \$1,440.00 \$645.00 \$3,400.00 \$24,300.00 \$4,000.00	\$50.00 \$6.00 \$2.00 \$3.00 \$10.00 \$45.00 \$2,000.00	S.Y. L.F. L.F. L.F. L.F. L.F EACH	65 80 720 215 340 540 2	3REMOVING CEMENT CONC. SIDEWALK4REMOVING CEMENT CONCRETE CURB5SAWCUT PAVEMENT6REMOVING PIPE7ABANDON AND FILL EXISTING PIPE8PVC SANITARY SEWER PIPE 8 IN. DIAM.98 IN. PVC OUTSIDE DROP	3 4 5 6 7 8 9 10		
	00	\$4,550.00 \$1,600.00 \$720.00 \$4,515.00 \$8,840.00 \$53,460.00 \$6,120.00 \$5,600.00	\$70.00 \$20.00 \$1.00 \$21.00 \$26.00 \$99.00 \$3,060.00 \$800.00	\$2,275.00 \$1,440.00 \$720.00 \$4,085.00 \$7,820.00 \$48,060.00 \$5,500.00 \$4,410.00	\$35.00 \$18.00 \$1.00 \$19.00 \$23.00 \$89.00 \$2,750.00 \$630.00	\$3,250.00 \$480.00 \$1,440.00 \$645.00 \$3,400.00 \$24,300.00 \$4,000.00 \$3,500.00	\$50.00 \$6.00 \$2.00 \$3.00 \$10.00 \$45.00 \$2,000.00 \$500.00	S.Y. L.F. L.F. L.F. L.F. L.F EACH EACH	65 80 720 215 340 540 2	3REMOVING CEMENT CONC. SIDEWALK4REMOVING CEMENT CONCRETE CURB5SAWCUT PAVEMENT6REMOVING PIPE7ABANDON AND FILL EXISTING PIPE8PVC SANITARY SEWER PIPE 8 IN. DIAM.98 IN. PVC OUTSIDE DROP10CONNECTION TO EXISTING MANHOLE	3 4 5 6 7 8 9 10 11		
	00	\$4,550.00 \$1,600.00 \$720.00 \$4,515.00 \$8,840.00 \$53,460.00 \$6,120.00 \$5,600.00 \$2,200.00 \$5,400.00	\$70.00 \$20.00 \$1.00 \$21.00 \$26.00 \$99.00 \$3,060.00 \$800.00 \$2,200.00 \$2,700.00	\$2,275.00 \$1,440.00 \$720.00 \$4,085.00 \$7,820.00 \$48,060.00 \$5,500.00 \$4,410.00 \$2,000.00 \$4,150.00	\$35.00 \$18.00 \$1.00 \$19.00 \$23.00 \$89.00 \$2,750.00 \$630.00 \$2,000.00 \$2,075.00	\$3,250.00 \$480.00 \$1,440.00 \$645.00 \$3,400.00 \$24,300.00 \$4,000.00 \$3,500.00 \$500.00 \$10,000.00	\$50.00 \$6.00 \$2.00 \$3.00 \$10.00 \$45.00 \$2,000.00 \$500.00 \$500.00	S.Y. L.F. L.F. L.F. L.F. EACH EACH EACH	65 80 720 215 340 540 2 7 1	3REMOVING CEMENT CONC. SIDEWALK4REMOVING CEMENT CONCRETE CURB5SAWCUT PAVEMENT6REMOVING PIPE7ABANDON AND FILL EXISTING PIPE8PVC SANITARY SEWER PIPE 8 IN. DIAM.98 IN. PVC OUTSIDE DROP10CONNECTION TO EXISTING MANHOLE11SIDE SEWER CONNECTION12MANHOLE 48 IN. DIAM. TYPE 1	3 4 5 6 7 8 9 10 11 12		
	00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00	\$4,550.00 \$1,600.00 \$720.00 \$4,515.00 \$8,840.00 \$53,460.00 \$6,120.00 \$5,600.00 \$2,200.00 \$5,400.00 \$6,850.00	\$70.00 \$20.00 \$1.00 \$21.00 \$26.00 \$99.00 \$3,060.00 \$800.00 \$2,200.00 \$2,700.00 \$6,850.00	\$2,275.00 \$1,440.00 \$720.00 \$4,085.00 \$7,820.00 \$48,060.00 \$5,500.00 \$4,410.00 \$2,000.00 \$4,150.00 \$6,100.00	\$35.00 \$18.00 \$1.00 \$23.00 \$23.00 \$2,750.00 \$630.00 \$2,000.00 \$2,075.00 \$6,100.00	\$3,250.00 \$480.00 \$1,440.00 \$645.00 \$3,400.00 \$24,300.00 \$4,000.00 \$3,500.00 \$10,000.00 \$10,000.00	\$50.00 \$6.00 \$2.00 \$3.00 \$10.00 \$45.00 \$2,000.00 \$500.00 \$500.00 \$5,000.00	S.Y. L.F. L.F. L.F. L.F EACH EACH EACH EACH	65 80 720 215 340 540 2 7 1 2 1 2 1	3REMOVING CEMENT CONC. SIDEWALK4REMOVING CEMENT CONCRETE CURB5SAWCUT PAVEMENT6REMOVING PIPE7ABANDON AND FILL EXISTING PIPE8PVC SANITARY SEWER PIPE 8 IN. DIAM.98 IN. PVC OUTSIDE DROP10CONNECTION TO EXISTING MANHOLE11SIDE SEWER CONNECTION12MANHOLE 48 IN. DIAM. TYPE 113MAINTAINING SEWAGE FLOW	3 4 5 6 7 8 9 10 11 12 13		
	00	\$4,550.00 \$1,600.00 \$720.00 \$4,515.00 \$8,840.00 \$53,460.00 \$6,120.00 \$5,600.00 \$2,200.00 \$5,400.00	\$70.00 \$20.00 \$1.00 \$21.00 \$26.00 \$99.00 \$3,060.00 \$800.00 \$2,200.00 \$2,700.00	\$2,275.00 \$1,440.00 \$720.00 \$4,085.00 \$7,820.00 \$48,060.00 \$5,500.00 \$4,410.00 \$2,000.00 \$4,150.00	\$35.00 \$18.00 \$1.00 \$19.00 \$23.00 \$89.00 \$2,750.00 \$630.00 \$2,000.00 \$2,075.00	\$3,250.00 \$480.00 \$1,440.00 \$645.00 \$3,400.00 \$24,300.00 \$4,000.00 \$3,500.00 \$500.00 \$10,000.00	\$50.00 \$6.00 \$2.00 \$3.00 \$10.00 \$45.00 \$2,000.00 \$500.00 \$500.00	S.Y. L.F. L.F. L.F. L.F. EACH EACH EACH	65 80 720 215 340 540 2 7 1	3REMOVING CEMENT CONC. SIDEWALK4REMOVING CEMENT CONCRETE CURB5SAWCUT PAVEMENT6REMOVING PIPE7ABANDON AND FILL EXISTING PIPE8PVC SANITARY SEWER PIPE 8 IN. DIAM.98 IN. PVC OUTSIDE DROP10CONNECTION TO EXISTING MANHOLE11SIDE SEWER CONNECTION12MANHOLE 48 IN. DIAM. TYPE 1	3 4 5 6 7 8 9 10 11 12 13 14		
	00 00	\$7,875.00 \$3,000.00 \$105.00 \$19,680.00 \$5,824.00 \$2,200.00 \$2,200.00 \$125,400.00 \$125,400.00 \$125,400.00 \$125,400.00 \$30,000.00 \$15,000.00 \$1,000.00 \$1,000.00 \$40,000.00	\$525.00 \$3,000.00 \$1.50 \$48.00 \$56.00 \$1,100.00 \$1,100.00 \$1,100.00 \$1,100.00 \$46.00 \$65,000.00 \$30,000.00 \$15,000.00	\$16,500.00 \$3,000.00 \$140.00 \$22,550.00 \$6,552.00 \$2,200.00 \$27,000.00 \$19,040.00 \$124,260.00 \$3,008.00 \$25,700.00 \$30,000.00 \$15,000.00	\$1,100.00 \$3,000.00 \$2.00 \$55.00 \$63.00 \$1,100.00 \$1,125.00 \$1,120.00 \$1,090.00 \$47.00 \$25,700.00 \$30,000.00 \$15,000.00	\$15,000.00 \$3,000.00 \$1,750.00 \$24,600.00 \$3,000.00 \$36,240.00 \$3,000.00 \$36,000.00 \$171,000.00 \$32,000.00 \$30,000.00 \$30,000.00 \$15,000.00 \$2,527,808.00 \$10,000.00	\$1,000.00 \$3,000.00 \$25.00 \$60.00 \$60.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$20,000.00 \$20,000.00 \$30,000.00 \$15,000.00 \$115,000.00 \$10,000.00	EACH EST. S.Y. S.Y. EACH EACH EACH EACH S.F. L.S. EST. CALC. L.S.	24 17 114 64 1 1 1 1 1 1 1 1 1 1 1 1 1	ADJUST MONUMENT CASE AND COVER ADJUSTMENT OF THIRD PARTY UTILITIES CONSTRUCTION GEOTEXTILE FOR UNDERGROUND DRAINAGE CEMENT CONC. SIDEWALK CEMENT CONC. SIDEWALK CEMENT CONC. DRIVEWAY ENTRANCE TYPE 1 CEMENT CONC. CURB RAMP TYPE PARALLEL A CEMENT CONC. CURB RAMP TYPE PARALLEL B CEMENT CONC. CURB RAMP TYPE PERPENDICULAR A CEMENT CONC. CURB RAMP TYPE PERPENDICULAR A CEMENT CONC. CURB RAMP TYPE PERPENDICULAR B DETECTABLE WARNING SURFACE ROADWAY SURVEYING PROPERTY RESTORATION MINOR CHANGE SPCC PLAN SCHEDULE 'F' MOBILIZATION			



April 10, 20 FILE: 2014 Citywide Resurf Bid Sum.pub

	BID SUMMARY 2014 Citywide Street Resurfacing Project		ENGIN ESTIN			A ASPHALT /EL, INC		NITE CTION CO.			
	CITY PROJECT NO. 2379 & 2381					Yakin	na, WA	Yakim	ia, WA		
ITEM	Bid Security						5% BID BOND		5% BID BOND		
NO.	ITEM	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	SCHEDULE 'F' Continued										
16	HMA CL. 1/2 IN. PG 64-28	220	TON	\$100.00	\$22,000.00	\$105.00	\$23,100.00	\$100.00	\$22,000.00		
17	CEMENT CONC. TRAFFIC CURB AND GUTTER	80	L.F.	\$35.00	\$2,800.00	\$28.00	\$2,240.00	\$28.00	\$2,240.00		
18	PROJECT TEMPORARY TRAFFIC CONTROL	1	L.S.	\$20,000.00	\$20,000.00	\$13,700.00	\$13,700.00	\$20,000.00	\$20,000.00		
19	STRUCTURE EXCAVATION CLASS B INCL. HAUL	610	C.Y.	\$15.00	\$9,150.00	\$11.00	\$6,710.00	\$12.50	\$7,625.00		
20	SHORING OR EXTRA EXCAVATION CLASS B	5000	S.F.	\$2.00	\$10,000.00	\$0.30	\$1,500.00	\$0.30	\$1,500.00		
21	REMOVAL AND REPLACEMENT OF UNSUITABLE MATERIAL	70	C.Y.	\$45.00	\$3,150.00	\$37.00	\$2,590.00	\$70.00	\$4,900.00		
22	BANK RUN GRAVEL FOR TRENCH BACKFILL	460	C.Y.	\$30.00	\$13,800.00	\$20.00	\$9,200.00	\$22.50	\$10,350.00		
23	CEMENT CONC. SIDEWALK	50	S.Y.	\$60.00	\$3,000.00	\$46.00	\$2,300.00	\$46.00	\$2,300.00		
24	CEMENT CONC. DRIVEWAY ENTRANCE TYPE 1	15	S.Y.	\$75.00	\$1,125.00	\$53.00	\$795.00	\$52.00	\$780.00		
25	ROADWAY SURVEYING	1	L.S.	\$2,500.00	\$2,500.00	\$540.00	\$540.00	\$2,000.00	\$2,000.00		
26	PROPERTY RESTORATION	1	EST.	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00		
27	MINOR CHANGE	1	CALC.	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00		
	Schedule 'F' Subtotal:				\$196,715.00		\$195,420.00		\$248,795.00		
	+8.2% Sales Tax:				\$16,130.63		\$16,024.44		\$20,401.19		
	Schedule 'F' Total:				\$212,845.63		\$211,444.44		\$269,196.19		
					, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,		. ,				
	Schedule 'A' + 'F' Total				\$4,507,618.63		\$4,247,556.62		\$4,535,287.19		
	Schedule 'B' Total				\$3,028,378.00		\$2,879,999.80		\$3,080,722.50		
	Schedule 'C' Total				\$3,294,143.00		\$3,109,853.50		\$3,236,432.00		
	Schedule 'D' Total				\$3,680,203.00		\$3,546,544.80		\$3,662,158.00		
	Schedule 'E' Total				\$2,527,808.00		\$2,422,282.30		\$2,442,624.00		





PR DA Fl

PROJECT NO. 2379 & 2381

DATE: April 10, 2014

FILE: 2014 Citywide Resurf Bid Sum.pub

SHEET **9** of **9**